EXERCISE 3.2

Find the values of other five trigonometric functions in Exercises 1 to 5.

Question 1:

1
cosx=-—— .
2, x lies in third quadrant.

As we know that

secx =

Cos X
1

Now, sin® x+cos” x =1
sin*x=1-cos’ x

. >
sinx =++1—cos” x
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Since, x lies in third quadrant, the value of sinx will be negative.
Therefore,

V3

Sinx=-—
Now,
I
cosec x =
sinx
B 1
V3
2
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NE)

Now,
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=3
Now,
1
cotx =
tan x
= &
V3
i 3 cosecx= i cot x 1
sinx =—— =——F =
Hence, 2, NE) , secx=-2, tanx= J3 , and NG
Question 2:
sinx ==

5, x lies in second quadrant.

Solution:
As we know that

cosec x =——
sin x

Now, sin® x+cos” x =1
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& L
cos x=1-sin"x

cos x =+/1—sin’ x
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Since, x lies in second quadrant, the value of cosx will be negative.
Therefore,

COSX =——

Now,

Now,

sin x

tan x =
cos x

|
| B
N A

Now,
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5 4 5 3
CosecCX=— COSx=—— S8ecx=—— tanx=-—— cotx=——
Hence, 3, 5, 4, 4, and 3

Question 3:

3
cotx=— L. .
4, x lies in third quadrant.

As we know that

Now, 1+tan®x =sec’ x

secx =+1+tan’ x
2

Since, x lies in third quadrant, the value of secx will be negative.
Therefore,

SECXx = —E
Now,
COSX =
secx
1
_*_5]
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3
s

Now,
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sin x
tanx =

COS X
SIn x = tan x cos x

()

2
5
Now,
COSeC X = —
sin x
= O
[-3)
5
_ 5
4
. 4 5 3 5
sinx=—— coseCxX=—— COSX=——= Secx=-——
Hence, 5, 4, 5,
Question 4:
13
secx=— . .
5 , x lies in fourth quadrant.
Solu
As we know that
1
COSX =
secx
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Now, sin’ x+cos’ x =1

4
fanx =—
3
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sinx=1—cos” x

sinx =+v1—cos® x
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Since, x lies in fourth quadrant, the value of sinx will be negative.

Therefore,
. 12
sinx =——
13
Now,
]
COSEC X = —
Sinx
o
1=
13
_ 13
12
Now,
sin x
tan x =
COs X

Now,
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1
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5
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12
: 12 13 12
Sinx=—— ¢0SeCXxX=—— COSX=— tanx=-——
Hence, 13, 12, 13, 5 ,and
Question 5:
tanx = ——

12, x lies in second quadrant.

As we know that
1
cotx=—
tan x
_ 1
_S
12
_ 12
5

Now, 1+tan’x =sec’ x

secx=+v1+tan’ x

el

Since, x lies in second quadrant, the value of secx will be negative.

Therefore,

13
secx=——
12

Now,
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COsSXx =

secx
.. 1
=
12
__12
13
Now,
sin x
tanx =
cos X
sin x = tan xcos x
5 12
= —m— X ——
12 13
13
Now,
cosec x =
sin x
1
)
13
13
5
: 5 12 1 1
SiINx=— (CO0SeCX=— (COSX=—— SeCX=—— cotx=——
Hence, 5, 5¢ 13, 12, and 5

Find the values of the trigonometric functions in Exercises 6 to 10.

c 4—;‘.

sin 765°

It is known that the value of sinx repeat after an interval of 2n or 360°.
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Therefore,
sin 765° = sin (2x 360° + 45°)
=sin45°
A

b

Question 7:
cosec(—1410°)

Solution:

It is known that the value of sinx repeat after an interval of 2n or 360°.
Therefore,

cosec(—1410°) = cosec(4x360°—~1410°)
= cosec(1440°-1410°)

= cosec3(°
=7

Question 8:

197
tan —
3

Solution:
It is known that the value of tan x repeat after an interval of n or 180°.
Therefore,

197 |
tan—=tanb6—x

3 3

:tan{6n+ln]
3

:t.anE
= tan 60°
=3

Question 9:

. ( llrr}
sin| ———
3
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It is known that the value of sinx repeat after an interval of 2n or 360°.

Therefore,

Question 10:

o 130
4
It is known that the value of cosx repeat after an interval of n or 180°.

Therefore,
( 157 J ( 1573:]
cot| ——— |=cot| 4r ———
4 4

T
=cot—

=cot45°
=]
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